o =05
o5 5 oFdA] xt - 8x2 - 99] QI4=7} ofd ZA22

@ —
x—=3 @ x+3
@ x*+1 @x2+9

® B+3x24+x+3




ohg A Aol A Bora g eha?

242 —3x+1, 3x2-x—-2, x2+3x—4

@x—l @ 2x-1

@ x+3 ® x+1

B

22— 3x4+1=(2x-1)(x—1)
3x2—x—2:(3x—|—2)(x—1)
¥ +3x-4=(x+4)(x-1)
whebA FHdf FoFg= x - 100t




3. F oA x2 +ax+b, x>+ 3bx + 2a 9] HHFFFTF x - 14 o,
a+ bl T F5HH?

@ 2 @ 1 @0 @1 0o -

S5 ~
A gotsrt x- 10122

2 +ax+ b2t x?+3bx+2a=

R 12 o] WojAof g,
Cl4+a+b=0°21+3p+2a=0

o2k, a=-2, b=1

L a+b=-




A kol tisto] Bas 2 = 2(k—i) —k(1+0)? 9] o] A7t Hzs
St k o] 427

@1 @0 ® 1 @ 2 ® 3

B
z=2(k=i) - k(1 +10)* 9 gto] A7t H2HH sl FZo] 0
oojof Fhet.
z=2(k—i) - k(1 +i)>

= 2k — 2i — 2ki

= 2k — (2 + 2k)i
5] HEo] 002 H 2 + 2k = 0 ©]oJoF G},
A k= -1




5. A xof tiste] B4 (14i)x® - (14 3i)x -

=5 ohe x of #2?

-2 @-1 ©®o0 @ 1

(2-2i) 7} &8 57}

B

i)x? — (1 4+ 3i)x— (2 - 2i)
(¥ —=x=2) + (x2 = 3x + 2)i

¥ -x-2=0,x>-3x+2%0
)x2-—x-2=0°4 (x+1)(x-2)=0
Lx=-1FEE=x=2

(ii) ¥* =3x+2# 0 oA (x-1)(x—2) #0
LxElEE x#£2

wakA (i), (i) ofl S5ked x = -1

(1+
5127 SI2TE (45 )=, (34 F42)2 0olelof st




1 1 1 1

1o
_+l_2+_3 l,5—094%1\1_?
® -1+i @)-1-i
@ 1+ ® 1-i

O

2B ;50

11 1 1 11 1
<_+z_2+3+i4>+<5+6+i_7

1 1 1 1 1 1
A l.4—5+l,4—6+i4—7+.— +i4_9+i5_0




D z=2-3i @ z=4-3i

@ z=2+3i ® z=4+3i

~&B

AEAzet S o (14 2i)z+3(2-2) = 02 TEHsl=
()

-

(@)126—31'

z=a+bi,z=a-biz 5HA

(A1) = (1 + 2i)(a + bi) + 3(2 — a + bi)
= (6 — 2a — 2b) + (2a + 4b)i

6-2a—2b=0,2a4+4b =0

Sa=6,b=-3

Lz2=6-3i




20123 + 8

o] 7+ 09
2012><2010+4“] et

D 2010 @ 2011 ® 2012 @ 2013 @2014

B

a = 20122} X2k},
20123 + 8 a® + 23
2012x2010+4 ax(a-2)+4
(a+2)(a®-2a+4)
a2 —-2a+4
= 2012 + 2
= 2014




24357t 2 - 3x 42013, APFER7E x - 19 W, 014

7'1]/\7]' 1 O] 1:}0]'/“ _/] o]-__ (—‘5-]_1?1;?

@ 2 -x+1

}o]

L=abG, G =x-14

L=(x-1)%x+2)

A:(x—1)2’ B=(x-1)(x+2)

A+B=(-2x+1)+ (2 +x-2)
=W = =1




10.

@ o A5t 19 £ tatAl a4, Bol

o] (x—l)(x3+3x2—9x+5) ol1, F trgtA

(x=1)2 (x + 5) Y W], T Tha}A] o] Ap4gto]

AB=LG = (x-1) (x® 4+ 3x*> - 9x + 5)
L=(x-1)2(x+5) 0|22 G=x-1
whebA] k2 O] A7t 19 F oAl
Y7k (x—1)%, (x = 1)(x + 5) °]T}.




11.

O34 A, B O HUETAF G EAOB, HLTHT L& AkB
2 Uiz @ o, o= Akt 389 0, W), 6 off €2 As

AT AL AL

A=aG, B=10G (a, b= A=)
A*OQAB = [Pl], A O B? =[]
. (A2OAB) % (A20O B?) = [[h)]

D A,G? A @ aG?,G, A 3@ A, AB, AG

@aGQ, G*, AG ® G, G, AB

~&B

() = A2 O AB =(G?a® 3} G?ab 2] Z|TH-Z}<)
= aG?

1 = 4% 0 B? =(G?a*7HG20? 9] Hhg ot
= G2

) = (A20AB) % (A0 B?)
= ((OH e (h) A HaFHF) =aG® = AG




12. of g7

N B

@ 1-+2 @ -1-+2 ® (1+ V2)i
@—(1+ V2)i ® (1-v2)i

V-V V-1
(V2+1) x ()
—(1+ V2)i




13.

n 00 4= ay a0, a3 - - ay = 1, -1, V2i, — V2i Z A 5hte] e 1A
o ettt Bl ay+as+as+-+a, =0,a+ad+a3+--+a2 =0

oot @ ), the F n o @l B 4 gl 22

@300 @ 303 ® 305 @ 308 ® 310

~&B

ai,as,---a, 5 1°1 a7, =1 °1 b 7, V2i 7} ¢ 7N, —V2i 7}
d 70 AL 54, a,b,c,d = =°] obd A4

ai+as+ -+ ay,

=1xa+ (-1)xb+ (V2i)xc+ (- V2i)xd

=a-b+ V2i(c-d)=0

a,b,c,d = ALTO|1BR g—b,c—d = AS

BALO AL QSla=b, c=d--- D
111+612+"'+115

=12xa+ (-1)2 x b+ (V2i)? x c + (- V2i)% x
=a+b-2c—2d=(a+b)-2(c+d)=0

a+b=2(c+d)
2a = 4c(. @)
L a=2c

“a:b:c:d=1:1:2:2
n=a+b+c+d=6a,n-=62 v




14.

VE-12+ /B-x? =x+32 A2 HE
- a, peF & o, 3089 A-27

® 3 @ 5 @7 @ 9

® 1

(EAN=|x-1+3-x=x+3
i)x<l1
~x+1+3-x=x+3,3x=1
. 1

..ng

i)l<x<3
x—1+3-x=x+3,

x = ~1(37}F oFeh)

iii) x> 3
x—1-34+x=x+3x=7

s 30] 2,7

3B =T




